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This Booklet contains 90 questions and 1 mark each for right

answer.

2. Before attempting the question paper kind|
has total 16 pages and OMR Answer Sheet consists of three

copies. At the start of the examination and within first five
minutes, candidates are advised to ensure that all pages of
test booklet and OMR Answer Sheet are grops;\ly printed and
test booklet is not damaged in any manner. erial No. and Series
of OMR Answer Sheet and Test Booklet match with each other.

hould immediately

In case of any discrepancy, the candidate s
report the matter to the invigilator for replacement of test

booklet and OMR Answer Sheet. No claim in this regard wil
be entertained after five minutes of start of examination.

3. Do not forget to write roll number on the top of this question
booklet and OMR Answer Sheet.

4. Do not tear or fold any page of the que
Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent
coloured photo pasted on it at mark B duly attested by
Gazetted Officer and one identity proof with photo like
Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not

be allowed to take the examination.

stion booklet and OMR

6. Candidates are advised to make sure to fill the correct name,
Roll No. and test booklet code on-the OMR Answer Sheet. If
the space for the Booklet Code Is left blank or more than one
booklet code is indicated therein and non filling of name and
Roll No. as per instruction, it will be deemed to be an incorrect
booklet code and Answer Sheet will not be gvaluated. The
candidate himseli/herself will be solely responsible for all the
consequences arising out of any error or omission in writin
the test booklet code. Candidate shall put his/her LTI (Maleg
and RTI (Female) on attendance sheet, on the OMR Answer
Sheet and on the Blometric Machine along with signature.

7. Candidate should put his/her signature and thumb Impression
on the Admit Card at two places in the presence of Invigilator
In the Examination Hall.

8. Candidates are warned not to fold or make any stray marks
on the OMR Answer Sheet. Use of Eraser, Nall, Blade, White
Fluld/Whitener etc., to smudge, scratch or damage In any
manner on the OMR Answer Sheet during Examination Is
strictly prohibited. Candidature and OMR Sheet of candidates
using Eraser, Blade, Nall or White Flulds/Whitener to smudge,
scratch or damage In any manner, shall be cancelled.

9. Incase of any discrepancy between the English
versions of any question, the English '\rgarslt:alrltﬂaI}I{ImbdoI

treated as finalauthentic.
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1. :I?)t.u: of power factor is determined by 1. ﬁmaﬁmaﬁﬁm;%
osition of current with re ety
voltage et (A) dreds 3 ame g
(B) Parallel connection of impedance (B) eI AT AL IS
(C) Voltage current ratio (C) aees fargld I §
(D) Series connection of impedance (D) e T ST G i
2. 1,9,25,49,81,? ‘«/ 2. 1,9,25,49,81,7
(A) 144 ) 121 (A) 144 (B) 121
(C) 100 (D) 112 (C) 100 (D) 112
3. DiagrammaticrepresentationofanAlgorithm | 3. TeiRed & T qeyHl __ Fedd |
- is called as (A) eI
_IA) Flow Chart A -
(B) Source Code Wy ) (B) ¥
(C) Pseudo Code % ﬁ # (& F@ﬁg
(D) Graphic Chart SO //m (D) ke =
. / The biggest industrial city of Haryana is 4. REm ¥ ged &Sl afrenfires TIeT 2
Bhiwani (B) Yamunanagar (A) forart (B) FGITTH
(C) Panipat ﬁj Faridabad (C) UHIua (D) WIEETS
cost t 1 : cost t 1 (1)
@ If f(t)=|2sint t 2t|, then limL;)is 5. Jfg f(t)=|2sint t 2t %,ﬂtm't?%
sint t t e s = sint t
;k ﬂ/-)u v
(A) 3 (B) 2 % ) B 3 (B) 2
(>
o0 D) -1 Y7 © o 0) -1
6. T fagd 5cos(100nt + 100) A BRI T Tl

%The average power delivered to an

(4 - j3) QR & ST fed wfed 8

impedance (4 - j3) Q by a current \(;
3" Bcos (100xt + 100) A is A ]ﬁ‘ A
(A) 125 W B) e25W o5CL AN 125W (B) 62.5W
(C) 44.2.W (D) 50 W /@ /@7"\’ (C) 442W (D) 50 W
1 sind 1 ¥ 1 sind 1
? If A=[-sin6 1 sin®|,0<0<2x, 7. afc A=|-sin@ 1 sinB[,0<6<2x
-1 -sin 1 . -1 -sind 1
then |A| lies in the interval ®, 1 |A| g ofaer & o | 7
(A) [3 4] %'42, 4] 2ANA) [8, 4] (B) (2, 4]
(C) [0,2] (D) [0, 4] [0, 2] (D) [0, 4]
{iﬂ(/t}’p _‘_ XC?‘) ol
N U O
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8. Consider the following statement/s about

Vice President of India. Choose the right
option given below,

1. He is an Ex-officio Chairman of the
Rajya Sabha. |

2. His term of office is six years and not
eligible for re-election.
(A) ~Both 1 and 2 are correct
) Only option 1 is correct
(C) Only option 2 is correct
(D) None of the above

The peldest canal in the State is
Eastern Yamuna Canal

(B) Saraswathi Canal

(C) Himalayan Blunders

(D) Electronic Sensitive Zone

10. How many agro climatic zones are there in

Harfana ?
) @ (B) 1
C) 3 (D) 4

]

The value of ¢ in Rolle's theorem for the
function (x) = e*sin x, where x &[0, x| is

7 B) %
©) %% a

12.  In word processing title bar contains

10/2019 (03,06,09,13,15,17,19,27,31,33&35)
8. W 3 ST % Taw F Pt orl W
TR | SR e ferered B arae foerea R |
1. 98 TSI GWT 1 Je SAH T |
2. IEH FHRTEH FHel B: T & N

At o el & weh |
(A) 12T T &

(B) haet fasreg 1 w1 R
(C) Fad a2 Tt R

(D) 3 ¥ ¥ =g AL

9. T T qOel e KB\)L
(A) T €
(B) UL e
C) TeuTerl W

) FoEITeh Heesier &

10. sfemn & e S seag 8w ?
(A) 2 (B) 1
(C) 3 (D) 4

Thedd f(X) = e* sin x %%Qﬁ@{ﬁmﬁ C Al
e 8, sl xe[0, 7] %)

@ %, B) Y
© % ©) Ya

11

12 TRIRfmMAegeaaryd  d@d
(A) Status of the page WY (A) ﬁﬁ?ﬁf@ﬁ
(B) lcons . ) ) 3Ehi~T
(C) Name of the file QLOJ | (o) IS 1
(D) Standard operations ( /O\ Y (D) e ey
13. In which district of Haryana limest 1
i mestone is | 13. i ht R fet i = geer Rern d 7
«{A)” Mahendragarh (B) Hisar (A) W= (B) %HR i
(C) Ambala (D) Rewari (C) 3=Ten () i -
14. 48202212712 - B, 6:202::7:9 2]l
1Y U('A{ 350 (B) 343 e/@ (A) 350
4/} (©) 210 (D) 336 A e (C) 210

L
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15. Which of the following statement/s given

below is/are true about Directive Principles |

of State-Policy (DPSP) ?
rM justifiable in nature -

(B) Notfundamental in governance of the
country

(C) Both option (A) and (B) are true

(D) None of the above

y The Mustafabad village is renamed as

(A) Indira Nagar

(B) Rajeev Nagar
(&)Y Saraswati Nagar
(D) Sundarban

17. Who was the first Director General of
Archaeological Survey of India ?
(A) Stafford Cripps
(B) Alexander Cunningham
@' William Johnes
(D) Lord Mountbatten

18. A 50 volt AC is applied across an RC
(series) network. The rms voltage across
the resistance is 40 V, then the potential
across the capacitance will be
(A) 40V (B) 30V

10V (D) 20V

Ifthe characteristic equation of the differential
equation d?y/dx? + 2ady/dx + y = 0 has
two equal roots, then the value of o is

(A) £0.5 (B) %j

(C) =1 (D) 0,0

\'20. Maltose is a
N (A) Tetrasaccharide -
Disaccharide
(C) Trisaccharide
(D) Monosaccharide b

mﬁkq wils

15.

16.

17.

18.

19.

20.

"0
[T

LT T
SreferRag # & HA-F1 T ¥ iy~
i A EA

(A) TE JTHTR 3 =T 8

(B) 213 A H ST CEIR
(©) 2 e (A) 3T (B) T T
(D) 37§ F A T

(A) 3T TR

(B) TSI T

(C) Tl TR
(D) G

T T e G e <Rl SoH HElHaweh
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21. The earliest name of Haryana is found in
origin of the name Aryana is

(A) Rigveda (B) Chahamana
(C) Atharvaveda  (DY" Bramhapuran
Monomer of neoprene |s
(A)_Caprolactum (B) Acrylomtnle
Chlorop;ene (D) 1, 3-Butadiene

®

23. Choose the pair in which the words are
thy related.
A) Earthen pots :.Clay
(B) Wood : Furniture

(C) Gold : Ornaments
(D) Cloth : Garments

24, Fuse is always connected in of
the circuit.
(A) No such specification
Series
(C) Parallel
(D) Neutral

25. By which of the following amendment to the
Constitution, a list of Fundamental Duties
of citizens were inserted ?

(A) 74™ Amendment
(B) 473" Amendment

42"4 Amendment
(D) 44" Amendment

26. What does GUI stands for 7
JK Graphical User Interface

(B) General User Instruction
(C) Graphlcal User Instruction
(D) Ground User Interface

27. Which term comes next In the sequence ?
AC, FH, KM, PR, ?
(A) T
/cog/u:v

(B) UX
(D) VW

10/2019 (03,06,09,13,15,17,19,27,31,33&35)

21.

22,

23.

24.

25.

26.

27.

TIRATO <hT Qe AT/ STRETT T & 339
# 9T AT § |
(A) g

. (B) <TEHUI.
(C) rudeg

(D) STETGT
i 1 T R |
(A) YA () RHETSIEIEHES
(C) A (D) 1, 3-5F2TeTEH

ma’l@rﬁgﬁﬁaﬁsﬁéw e T
ﬁaa'f%m%|
ﬁgﬁwaﬁqﬁs‘l ‘
(B) el : FHTe]
(C) | : e
(D) wHUST: <&

EeRiCERIERED
(A) v e Ffde

Fyeame |

(B) g@en

(C) THMMR

(D) =Igad

wfeam o frafeaa o & form wenem g
TRTRERT o HifeTeh Sheed Qiay™ § STl T 7
(A) 74TFEMET

(B) 73 H¥NEw

(C) 42 3f gumed

(D) 44 9 HaMeA

GUI %1 form &

(A) TTTOReReT 3T ST

(B) STIST I TR

(C) T iihehet JoR FeATH

(D) TS TFR TeTH

T H ST 1T HIA-1 S @ 7
AC, FH, KM, PR, ?

(A) TV (B) UX

(C) Uw (D) VW
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29. Which of the folloWIng Right given below is
| a Fundamental Right which is guaranteed

- [:Ay/pdr Constitution ?
) Right to Equality
(B) Right to Property

(C) Right to Exploitation
(D) None of the above

The place where largest industrial centers
of Haryana is located

{A) Bhiwani
(CY Yamunanagar

(B) Gurugram
(D) Ramnagar

30. The communication protocol used for

Internet is
HTTP (B) ARPANET
(C) TCP/IP (D) POP2

31/~ Which was the major reason for the break

up of USSR after cold war period ?

(A) Pressure from the outside nations

(B) Excessive centralisation of power

(C) Civil war between the diversities of
country

(D) Religious dominance of the country on
other nations

32. The climate of Haryana is
(A) Summer (B) Rain always
(G Continental (D) Winter

Arrange the following elements in the
increasing order of metallic character :
Si, Be, Mg, Na, P.

(A) P<Si<Be<Mg<Na
(B) Mg<Be<Na<Si<P
(C) Be<Na<P<Mg<Si
(D) Na<Mg<Si<P<Be

34. The Haryana Veterinary Training Institute
was established at Hisar ji the year

(A) 2004 2003
(C) 2005 (D) 2001
f oy Mg, P L :

||I1mI||l|lll|ll|||lll|lll|||Ihl}“mlllllﬂl‘llllllﬂlhllllilmnm“- |

|IIIIIIllﬂlllllhlllllllllllllllﬂ||Hl|l|||III .
28 gﬁmvnasﬁﬁﬂvﬂ#ﬁﬁ A I R
o frar (B) TI™
Eg; AT (D) THTR
ﬁmﬁf@ﬁﬁﬁﬂ?—mﬁﬁﬁﬁﬁﬁm
20 2 o e SR & 7
A T T AR
(B) Fufy w1 SRR
(C) igoT =T TR
(D) < 7 & TS T _
30, e g T TSN W3 STERIC §
(A) HTTP (B) ARPANET
(C) TCP/IP (D) POP2
31. iaTE ot %98 USSR o foras 1 e
T T AT ¢
(A) Tl T | e

32.

33.

34.

e

¢ ~>

- y /

(B) 1Tt o1 STCATH halehill
) 2nH fafauareti & =R g8
(D) <RI A U T GTTH T

T St STy

(A) T (B) @eT a§i

(C) weETEd™ (D) @i

eTfeereh fererren o srgal 3 o frfiRa ol
! afer hifvm)

Si, Be, Mg, Na, P

(A) P<Si<Be<Mg<Na

(B) Mg<Be<Na<Si<P

(C) Be<Na<P<Mg<Si
(D) Na<Mg<Si<P<Be

(©)
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35. Galvanometer in
potentiometer ci |
used for the indication of bt

(A) Calibration of potentiometer
(B) Providing stability

(C)- Indication of null position
\ ) All of the mentioned
36. The maximum demand l.e., sum of
connected load to the simultaneous
maximum demand is expressed through
v (A) Derivative factor

(B) Divident factor
(C) Demand factor

\®/Diverslty factor

37. HAREDA isthe nodal agency for developing
energy through

(A) Nuclear sources
(B) Coal

Hydel
(D) Non-conventional

38. passes both the negative and
positive half cycles of the input, while
inverting the negative half of the input.

(A) Zener diode

Full wave rectifier
(C) Half wave rectifier
(D) None of these

39. What was the main reason for the .
development of hill stations in British India ?

(A) These regions weré economically |

more prosperous
(B) They helped to connect the trade

utes of Europe |
M hey were approximated cold climate

of Europe
(D) All of the above

40. The District which exports largest amount
of basmati rice ' )
(A) Sirsa Karnal
(C) Panipat

(D) Ambala . I

10/2019 (03,06,09,13,15,17,19,27,31,33&35)

35.

36.

37.

38.

39.

~40.

qrefiier gy § feariiet &
Heohel o fTC BT @ |

(A) R T

(B) FTRIed IUTTeY T

(C) Tvg feuftr =t wohet

(D) Sfewfaa @t
aﬁwuﬁammn’h%mﬂ-mag%
yRE AT gema g |
(A) . ST FTh

(B) IS4 T

(C) =T &I

(D) farfereran =

HAREDA % meem @ &l farshera
0 Y Argw e ¢ |

(A) R &

(B) ThiEET
(C) A HId
(D) TR-URUTER

_____aqﬁaﬁmﬁ%"ai‘r{awmc
ﬁaﬁaﬁﬁmﬁ%‘m%,mﬁm%
SHUTee 318 F T AT R |

(A) SREEE

(B) o1 T fesehrl

() e 7 fesewrl

(D) T & g T

FePrar T 3y v o fareRd B
g@-frmmsm?

A FiFaiEE AT ey
(B) ST gy 3y T AT @ g H

e v oty s T A <
T 8
TA[)% | (B) FE
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hich of the following rivers are the tributaries

‘ of Brahmaputra ?

(A) Manas, Jia Bhareli, Subansiri
(B) Godavari, Krishna, Aghanashini
Yamuna, Ramganga, Mahananda

(D) None of the above

42, Acting: Theatre Gambling: ? ~

(A) Gym (B) Bar
\9)/ Casino (D) Club

43. Haryanalegislative Assemblyhas__

seats.
(A) 80 .1{) 90
(C) 70 (D) 60

44. Choose the word which is least ||ke the

other words in the group.
November (B) dJuly.
(D) May

(C) Januar{'\

)', 45. Haryana Government mandates
o qualification to contestants to Local Body
9 Elections. Al
¢ o ) Educational o /%k‘
(B) Postgraduate 4
) @/ Primary %% o’
) Legal %QY A e
., wv
46. An ac current is represented as A
42.42 sin628wt. RMS value of current \
E(ﬁil’;:%(requenc:y are respectively 9t
30 A, 100 Hz b "
~ o (B) 10A,50Hz ‘X&% \ ¢
)?{f’“ (C) 141.2A,314Hz O\

(D) 200 A, 200 Hz

O A R “Il:i‘- s

| ]
[ IIIWHI\!III1IlI1!|IIIIIIN|IlIIIHlllIII a
4

42,

43.
(©) 70 (D) 60
e e TR G S W FH AR |
(A) T (B) I
(C) Sah (D) W%
ehEmn TR 3 T e gl &
yaREi s fon_ armar e diR |
(A) egfires
(B) TGN
C) wufies
D) Tt

\ \46 T ac TR 42.42 sing28ut 3 &9 # i
a/ £ ﬂ?ﬁ%uﬁrgaaﬁwgﬁfaﬂnmsmm ®

44.

|
|

45.

% ‘
Z

>
b
D

A
Y+

\X"’v\ o

i
i
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48. Which of the Superior breed of buffalo of

5

@

Haryana is popular throughout the
(A) Hareena

P&Q{ Murrah

Figure shows an armature rotating in
two-pole machine. Consider g small piece
ab of the armature. When the piece ap is

country ?
(B) Sawala

(D) Saiwa

under N-pole, the magnetic lines pass from
a to b. Half a revolution later, the same |.
piece of iron is under S-pole and magnetic b
lines pass from b to a so that magnetism"

in the iron is reversed. In order to reverse
continuously the molecular magnets in the
armature core, some amount of power has
to be spent which is called

A) Mechanical loss
B) Hysteresis loss

(

(

&o{ Eddy current loss
(D) Voltage loss

3 similar impedances are connected
in delta across a 3 phase supply. The
two wattmeters connected to measure
the input power indicate 12 kW and 7 kW.
Power factor of the load is

(A) 0.9393 (B) 0.9999

(C) 0.9899 (D) 0.9099

The State of Haryana lies about 300 miles

north of

) Greenwich line

(B) Equator (UD"’LDQ
\

(C) Stralght line W 4\{

(D) Trople of cancer Sq7

\X\(/

10/2019 (03,06,09,13,15,17,19,27,31 ,33&35)

49.

50.

51.

48. BT o g oY - S T A

AL 7 .
A) T (), SE
(©) Hﬁg _ (D) GEEL

7 garg1 ab N- 3 % SHe°Td T 8, 3

Yt a @ b1 ST 81 38 T o,
<oehia e b & a F 3 A § IR
+ft 3 S o1 g g Sed BT 8 |
e e 7 SO YR A PR 3
0 35 7 1, 0 IR <9 e e S

(D) deest &I
% & 5 o e 8 3 T
T § | ST W A R e
Rkwak7kwei g | mE N

(A) 0.9393 (B) 0.9998

(C) 0.9899 (D) 0.9089

T T 00w IR |
(A) e |

X
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52. Jyotisar is the old name for
(A) Madvacharya
) Kurukshetra
(C) Ramanujacharya
(D) Vallabhacharya

If matrix A = [ a 12,‘2-

where a; = 11if I#],
= 01lf =)
then A% =
(A) -A \/(()0
(o)l (D) A

54. In a microprocessor, outputs of arithmetic,
logical or 10 operations are generally store

in
% Accumulator

(B) Program counter
(C) General register
(D) Flag register

55. A very high magnetic field is applied to
a stationary charge. Then the charge

9[ experiences

(' JA))D No force

& (B) A force in an arbitrary direction

(C) A force in the direction of magnetic field

(D) A force perpendicular to the magnetic
field

Noise arising in JFETs, BJTs and other
complex IC amplifiers is generally described
by

(A) Two source output model
(B) Two source input model

(C)/ Single source input model
(D) Single source output model|

' 57. In Haryana which of the place is called as

\/y’ﬁub of call centers ?
A) Gurugram (B) Panipat

(C) Panchkula (D) Bhiwani

X , o
. =10~

‘

,..,.mm“mummummmmunnnmnmnnmumlmnuunlummnm

52 aﬁﬁm'{__.—-———-mgtmm%I

(A)
(B) FR&A

53, Rk am=qE A=[8l2

54.

(C) M
(D) AT TR

55. T T STEY W Tk ITd 359 g
&5 ST ST 2 | A SAe i

T T |
(A) @IS S T8I

(B) ety fem # wes s
(C) Fuehiy &= i fown o v &1 e
(D) T & F HeIad TF A
56. JFET, BJT iR 31 5ifest IC ool & 3aug
&S W= T TS SITet @ |
(A) Te & e Aiee
(B) T2 & a1 uide
(C) T &g o119 Hide
(D) Tt & STa Wit

e

(A) T (B) wHiya
(C) v (D) Frarh
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/ What is the high
the main memng sg):de ?hmemory between | 58, TEg AWK R Hifig % ot 3 e A
ry e CPU called ?
(A) Virtual Memory ___ wEamie
(B) Storage Memory gg; TYaTA %‘%ﬂ
(C) /Register Memory ©) Fere 7
Cache Memory (D) £ 39 b
59. The left'as well as the right side of the | 5. mﬁﬁndﬁﬁmqﬁ@? A S
ﬁ:?‘%l‘ggnegill be aligned e)?cept forthe last ; wmﬁm@ﬂ"ﬁ . FEATE |
(A) Justify (A)
(B) Center Alignment (B) T TATETHE
(C) Left Alignment (C) T TAETHE N,
(D) Right Alignment (D) e TEETHE .
The output Y of a 2-bit comparator is logic 1 | 60. 5 oft 2-fore @TE A, 2 fore 3= B e
whenever the 2-bit input A Is greater than the 34 ﬁzgﬁamm‘( T 1
2-bit input B. The number of combinations gm%| Yo St I8 Aedl FoT T ST
for which the output is logic 1 is SR 18
B) 8
(A) 10 (B) 8 (A) 10 Eog :
(C) 4 (D) 6 (C) 4 =iy ¥ 7
61. InHaryanathe districtwhich isthe highestpeak |  61- m‘_ﬂ@q'm st R
of the state is (A) T (B) fTor
Panchkula (B) Hisar i
(C) Ambala (D) Kurukshetra (C) st (D) @5@?
: | g7 s - T AR
62. Which of the following Indo-Tibet main trade 62. i m?[%?{q%% -
routes are passes through Chumbi valley ? o aﬁ
(A) Jelep La and Nathu La Pass (A) waﬂ'{ ?IQI\ETEHE
(B) Bhor Ghat and Chorla Ghat Pass (B) :ﬁh_'((q‘ﬁﬂ?.' Sl
(C) Goram Ghatand Haldi Ghat Pass (g) m;rgﬁ'éq':"f
(D) None of the above ( )a@ﬁ i g hepn
tai sthiteandGred balls. Find | 63. T &t 8 6 T |
(@ aga%gr/gggbailllirt]y of drawing two balls of the -sﬁa‘rﬁ%ﬁwaﬁﬁmﬁmm S|
same colour.
‘QA) . 43/91 (B) 51/91 (A) 43/91 (B) 51/91
(C) 15/91 (D) 28/91 (C) 15/91 (D) ze;;q
SR ghamm A S8 W
64. The Haryana State IDC has already 64. mwﬁ%m%?
developed a Textile Park at |
) Bhiwani () Saha (A) forart (8) gg
(C) Panipat (D) Barhi (C) W (D)
65. Who s the Constitutional Head of Executive | g5. M Wdﬁmﬁmﬁﬁﬂmﬂﬂﬁ% 7
of the Union of India ? A) 3 ¥
(A) Prime Minister é
B President (B) Trgufd 69/
(C) Speaker (C) -;cﬂm @ (7 .)(
w— (D) Wﬁw %
0N i A W/ A
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In measuring instruments, under equilibrium
condition, controlling torque (T,) and
deflecting torque (T,) are

T,=T, B) T.<T,
(C) T,>T, (D) None of these

In MS Word Document short cut key for
page break is
(A) Ctrl + shift

(B) Ctrl + enter

(C) Ctrl+b (D) Ctrl+p
a 0 o
8/ If A=|0 b O | wherea=0,b# 0,
0 0 -c
c# 0,then A" =
[1.6 o
a
1
A) ab 1%
(A) abcjo = O
i 0 =
L. c—
a 0 O
(B) |0 b O
_0 0 -c
[—a 0 O
(C) 0-b O
_0 0 ¢
1o o
a
oy [0 & o
© [0 &
8, g ==
—1 c-

If A and B are two matrices of order
3 x m and 3 x n respectively and m = n,
then the order of the matrix 5A = 2B Is

3xn _ (B) mxn

A A O B Wy
Trore SRt 3, S et =, P s
et (T,) i et = (T ¥

& T=T, B) T.<T,

© T.>T, (D) T ¥R T
67. Msa@fawaaﬁﬁﬁaﬁ%%ﬁa@"i

Feit B
(A) Ctrl + shift
(C) Ctri+b

o O

a
68. aik A=|0 b O
0 0 -¢C

c# 0R, WA=

(B) Cirl + enter
(D) Ctrl+p

Xqﬁ a#os b;& 0'

o

1
a
(A) abc| 0

(B)

(C)

69, TR AMRBFIM 3xmAR3IxnARF

%mﬁ#ﬁmnt,ﬁmsp\-ae
(A) 3xn (B) mxn
(D) 3x3

(C) mx3 (D) 3x3

(C) mx3
«12- :
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| yVO,VT, 19,19, 11, 19,7, 72

0 A____isemitted whenan electron jumps | 7. 7 UF @W@ﬁﬁéﬁﬂﬁm
from one energy state to another energy 3
state. T TH Fegford BT &l
(A) Positron */Photon | (A) TIfSrg (B) W
(C). Proton (D) Neutron (C) WM (D) - =g
@ InHaryana the Pradhan MantriFasal Bhima | 71, 2fermr 3 e st e st it 3¢
Yojana was launched on FITE 7
(A) 12 February 2016 (A) 12 2016
(B) 16 February 2016 (B) 16 ®E 2016
10 February 2016 (C) 10 wTERI 2016
(D) 18 February 2016 (D) 18 HE&Ht 2016
al
7@ If Ais a matrix of order 3 x 3, then det(3A) = 72. Hﬁ(g;m?ﬁ 3 x 3 o1 & AT J
- det =
(A) 3|A] \Kznm (A) 3|A| (B) 27!”"
(C) ll Al (D) None of these 11 Al . D) AT
3 safita &
6 ¥a o7 HreT i Tk 10 ga
A 6 pole induction motor supplied by a | 73 Th o e 2, 600 T 5 fre
10 pole alternator which is driven at 600 rpm. ;%‘I\i et | R T 970 a@hgﬁ-{ﬁqz
If the motor is running at 970 rpm, determine AR e < 2|
the percentage slip. . ’ (B) 3%
; B) 3% (A) 5% |
(A) 5% (B) ©) 1% (D) 2%
(C) 1% (D) 2%
RIS aedd
@ Ayodhya Prasad Goyalia introduced 74. %ﬂjf;; 9;913
‘ to Urdy Literature. - =
\;%em Dohe (A) hel (B) e
| T D) Y
(C) Sonnet \/Dﬁ Shairi (C) " (D)
I
75. Rewari a sweet delicacy is famous from 75. G AWEARSH e &
| Kathak (A) e (B) HTSF
(A) Bangda (B) Ka g
?’ Loor ) Rohtak C) W (D)
ek f EXIEl
76. filter attenuates a certain band of /4 T— b il ﬁ:ﬁ Ll W %
frequencies between two corner frequencies g i FO gfEat Y geet L R et
while allowing all those outside of this Wﬁﬁ wmﬂﬁﬁﬁ%ﬂ? |
corner. 5 i
Band stop (B) Band pass (A) g R ®) =
(C) Low pass (D) High pass ) fr=r @ (D). =9 9E
0 | |
e T -13- ‘ mP‘x’/ i W x
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English Language
Fill in the blanks with appropriate word from the
options.
77. They insisted that we _
with them.
(A) ~may have

dinner

(B) should have

\’(2)/ can have (D) will have
78. Il were you, | buy that coat.
(A) hadn’t . (B) wouldn’t
won'’t (D) can't
79. |decided to stay at home last night. | would
have gone out if | so tired.
(A) hadn’t been (B) wouldn't been
(C) wasn’t (D) weren'’t
Fill in the blanks with suitable prepositions.
80. The cat jumped the stool.
(A) to (B) up
onto (D) into
81. Choose complex sentence from the
’/fovgwing. ~.
(A) Afoxwho had neverseenalion before
met him.

(B) |can't see, for itis very dark.

(C) He failed, never the less he
persevered. _

(D) The wind blow, the rain fell and the
lightning flashed.

Select one word substitute for the following.

.. 82. ‘Aplace where horses are kept’
~ - (A) Pen (B) Kennel
(C)” Shed (D) Stable

Use appropriate linkers to fill in the blanks.

83. Heworked hard, he could not
get a rank,
(A) still (B) therefore

Q/till (D) until

Identify the figure of speech used in the following
sentence, Y ‘

84. ‘“Laughter holding both her sides”.
(A) Metaphor (B) Hyperbola
(C) Antithesis

y } f Wi A}
8! !Q" ; A e BT
¥ ._,.\.,‘-a\'.-". TR Ja N
R v R e 1 TSN Y | (I
'.. L R

o

(DY Personification

IIIIIIIWIIIilﬂIﬂlllIlIlIﬂlIIlIIIIWII]lIMlil‘ll\lIHIIH\\NINNHﬂlﬂﬂﬂ\l\\lt\lﬂﬂﬂfﬂﬂﬂ\\ﬂlﬂm [T

foy ST
: fafte |
» (jfﬁmmm (=) -
(o) wgmw (%) O
(3) wgshfe @9 (m) %fﬁ
(g) grg ga™ ('et) 'ﬂ%—?ﬁ‘s_‘
B T arplyn 3
y T Y A !
© T Dl |
D) W Tepigst oF
ﬁg@ﬂ(ﬁ?ﬁﬂm%m
b grm;ﬁ@mﬂﬁmm@“ﬂ@
j FEd @ |
(A) T (8)
(C) <hred (D) =
6. ‘w1 T & F gErn’ @ AR H
A o

(A) 3 RrTe ST T g ST TR |
(B) r@g@ﬁﬁmﬁﬂ%ﬁﬁﬁﬁﬁ‘ﬂm%\-
(C) é\ﬁﬁaﬁ%aﬁ%éﬁt@mgﬁ\
(D) =feet % B & Tl g8 Fin et 33 |

88. ‘> Trdl 3O YR AR
(A) Fream (B) Sequl |
(C) weTrdH (DY e HHEW
89. TRTERH SfiE ST g AR |
TR |
(A) FJINF A (B) HTFaTA
(C) e (D) wHaT=A
90. ‘m’qﬁ f;{m%l
©) &g O) s
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